Whitman College



Econ 328



Exam 1


February 14, 2006

Write all answers in your bluebook.  Show all of your work.  The exam ends at 9:55.

1.  Consider the following situation.   Two players simultaneously and independently choose between rock, paper or scissors.  If their choices do not match, then the games ends.  If their choices do match, then they go on to again simultaneously and independently choose between  rock, paper or scissors.  After this second stage, the game ends.

(a) (10pts)  Draw the game tree for this situation.  Be sure to label who plays at each decision node and what action each branch represents.  You do not need to write the payoff profiles at each terminal node.

(b)  (5pts)  Is this a game of perfect information or imperfect information?  Explain how you can tell.

(c)  (10pts)  List the strategies in Player 1’s strategy set.

2.  For Game 1 and Game 2 below, answer questions (a)-(e).  Each question is worth 4 points.

(a)  Is there a dominated strategy for either player?  If so, list all dominated strategies, and explain what strategy dominates each.  

(b)  Is there a dominant strategy equilibrium?  If so, what is it?

(c)  Is there an iterated dominant strategy equilibrium?  If so, what is it? 

(d)  List the rationalizable strategies for each player.

(e)  List all the Pareto Efficient outcomes of the game.

Game 1

	                                          Player 2

	
	
	L
	M
	R

	
	T
	(5,3)
	(14,1)
	(16,4)

	Player 1
	I
	(10,2)
	(9,2)
	(8,6)

	
	B
	(12,1)
	(15,3)
	(15,0)


Game 2

	                                          Player 2

	
	
	F
	C
	B

	
	U
	(3,8)
	(5,4)
	(10,3)

	Player 1
	S
	(10,4)
	(6,5)
	(5,4)

	
	D
	(2,6)
	(8,7)
	(8,6)


3. (a) (5pts)  Define the Prisoner’s Dilemma class of games.  

(b) (5pts)  Describe the strategic tension inherent in the Prisoner’s Dilemma class of games.

(c)  (5pts)  Draw the normal form matrix for a Prisoner’s Dilemma game.
4. (2pts each)  For each of the following statements, indicate whether the statement is true or false.  

(a)  For any undominated strategy, there exists some set of beliefs for which the strategy is a best response.

(b)  If a strategy is a best response to some set of beliefs, then it is undominated.

(c)  If a strategy profile is a dominant strategy equilibrium, then it is Pareto Efficient.

(d)  If a strategy profile is Pareto Efficient, then it is a dominant strategy equilibrium.

(e)  If a strategy profile is an iterated dominant strategy equilibrium, then it is Pareto Efficient.  

(f)  If a strategy profile is an iterated dominant strategy equilibrium, then it is a dominant strategy equilibrium.

(g)  If a strategy profile is a dominant strategy equilibrium, then it is an iterated dominant strategy equilibrium.  

(h)  A game can have more than one dominated strategy.  

(i)  A game can have more than one dominant strategy equilibrium.  

(j)  A game can have more than one rationalizable strategy profile.
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